t7_mesfunch (TMSo-
JqmjHz13eHJETWNWhbTvGKQsY UBT3KA)

October 27, 2020

Let ml_subset_1 : t\=1=>0 be given. Let k7_numbers : ¢ be given. Let
rl_xzreal 0 : t=1=-0 be given. Let k6_numbers : ¢ be given. Let k4 _xxreal_3 :
t=-1= be given. Let k3_zxreal 0 : t:=1=-1 be given. Let k4d_zxreal 0 : t.=1=1
be given. Let kl_extreall : t=>t=>t be given. Let vl_zxreal 0 : t=0 be given.
Assume the following.

VX0.(vlzzreal 0 X0)=(VX1.(vl_zzreal 0 X1)=(VX2.
(vlzzreal 0 X2)=(((rl-zzreal 0 X0 X1)A(rlzareal 0 X2 k6_numbers))=
(rlzzreal 0 (kd_zzxreal 3 X1 X2) (kd-xzreal 3 X0 X2)))))

1)
Assume the following.

VX0.VX1.((ml_subset_1 X0 k7_numbers)A(ml_subset_1 @)
X1 k7_numbers))=(kl_extreall X0 X1 = kd_zxreal 3 X0 X1)

Assume the following.

VX0.VX1.((ml_subset_1 X0 k7_numbers)A(ml_subset_1 (3)
X1 k7_numbers))=(ml_subset_1 (kl_extreall X0 X1) k7_numbers)

Assume the following.

VX0.(vl-zareal -0 X0)=(VX1.(vl_zzreal 0 X1)=((
(rlzzreal. 0 X0 X1)=(k3_zzreal 0 X0 X1 = X0))A((-rl_zzreal 0 X0
X1)=(k3_zzreal 0 X0 X1 = X1))))
(4)

Assume the following.

VX0.(vlzareal 0 X0)=(VX1.(vlzareal 0 X1)=-((
(rlzzreal. 0 X1 X0)=(kd_zzreal 0 X0 X1 = X0))A((-rl_zzreal 0 X1
X0)=(kd_zzreal 0 X0 X1 = X1))))
()

Assume the following.

VX0.VX1.(vlzzreal 0 X0)A(vl_zzreal 0 X1))=( (6)
(rlzzreal 0 X0 X1)V(rl_zzreal 0 X1 X0))



Assume the following.

VX0.VX1.((vlzzreal 0 X0)A(vl_zzreal 0 X1))=( (7)
k4 xareal 3 X0 X1 = k4 xareal 3 X1 X0)

Assume the following.

VX0.VX1.((vlzzreal 0 X0)A(vl_zzreal 0 X1))=( (8)
kd_zzreal 0 X0 X1 = kd_zzreal 0 X1 X0)

Assume the following.

VX0.VX1.((vlzzreal 0 X0)A(vl_zzreal 0 X1))=( (9)
k3_zzreal 0 X0 X1 = k3_zxreal 0 X1 X0)

Assume the following.
VX0.(ml_subset-1 X0 k7_numbers)=(vl_zxzreal-0 X0) (10)

Theorem 1

VX0.(m1_subset_1 X0 k7_numbers)=(VX1.(ml_subset_1
X1 kE7_numbers)=(VX2.(ml_subset_1 X2 k7_numbers)=((rl_xxreal_0
X2 k6_numbers)=((kd-zareal 3 X2 (k3_zxreal 0 X0 X1) = kd_zzreal 0
(kl_extreall X2 X0) (kl_extreall X2 X1))A(kd_xzreal-3 X2 (kd_xxreal_0
X0 X1) = k3_xxreal 0 (kl_extreall X2 X0) (kl_extreall X2 X1))))))



